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[1 We cannot ignore the fact thatl] [1 [ 2] No one can deny the
fact thatlJ (O OO 300 There is no denying the fact thatd [J [ 4] This
Is a phenomenon that many people are interested in(J 501 However
[ thats not the cased [ [J O We cannot ignore the fact that
Industrialization brings with it the problems of pollutiond To solve
these problems] we can start by educating the public about the
hazards of pollution] The government on its part should also design
stricter laws to promote a cleaner environmentd 800 0 O O 0O 1

[J Compared with AL BO O O 200 | prefer to read rather than
watch TV 30 There is a striking contrast between them(J [ [ [
Compared with cars[] bicycles have several advantages besides being
affordable] Firstly[d they do not consume natural resources of
petroleum] Secondlyl] they do not cause the pollution problem

[1 Last but not least[] they contribute to people’ s health by giving
them due physicalexercisel 0D D OO0 OO0 0000000
Jdodoboobouoodoooobooouoeyoouo 1
[ It has increased] decreasedd fromU [ OJ told OJ OO 200 The
population in this city has now increased [] decreased(] to 8001 000
[1 30 The output of July in this factory increased by 1501 compared



with that of Januaryd [ [0 [ With the improvement of the living
standard(] the proportion of people’ s income spent on food has
dec reased while that spent on education has increased] [ [J [J
From the graph listed abovell itcan be seen that student use of
computers has increased from an average of less than two hours per
week in 1990 to 20 hours in 20000J O 0 “ From the graph listed
abovell itcanbeseenthat” 00 01200 00 0090 0O O 120
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